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Figure 1.  CLKO\ and Qd signals using the TI sample

Channel 2: CLKO\ signal (Pin 10)

Channel 3: Qd signal (Pin 7)

Notes:

Figure 1 shows the fast rising and hence noisy CLKO\ signal.  The noise causes the divider circuit to falsely trigger as seen at Channel 3.

R1=470k, R2=1M, C=130pF

[image: image2.jpg]Fle Edt Vetcal HoiatAca I Disply Cusors  Meagwe Math  Uities  Help

Tek _Aun_Hifes 18 Sep 02 12:07:51
v

Frealos)  He
o periodt
found
Freatoz) e
o period
i found

Fise(cz]  7.106us
Unstable
histograr

tz 200 a M20us 50Nl 40.0nst
oz 200 @ heh3 284 v





Figure 2. CLKO\ and Qd signals using the Motorola sample

Channel 2: CLKO\ signal (Pin 10)

Channel 3: Qd signal (Pin 7)

Notes: 

Figure 2 shows the slow rising and hence relatively cleaner CLKO\ signal.

R1=470k, R2=1M, C=130pF
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Figure 3.  CLKO\ and Qd signals with a capacitor (TI sample)

Channel 2: CLKO\ signal (Pin 10)

Channel 3: Qd signal (Pin 7)

Notes:

I used a 220pF capacitor from Pin 10 to Vcc to slow down CLKO\ signal.  This results in a clean signal and correct operation of the chip.

R1=470k, R2=1M, C=130pF
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Figure 4.  TI Sample working with a capacitor added from Pin 10 to Vcc

Channel 2: CLKO\ signal (Pin 10)

Channel 3: Qd signal (Pin 7)

Notes:

Figure 4 shows that the device is working properly.  Qd has a frequency that is 1/16th the frequency of CLKO\.

R1=470k, R2=1M, C=130pF

